FProblem Set4.1: Critical Value

Criterion: Explain the relationship between k and power based on calculated k& values.
Instructions: Read the following and answer the questions.
Work through the following and werite down what you see in the Ftahle. This will help familiarize

wou with the table.

The Ftable: The degrees of freedam for the numerator (k= 1) are across the columns; the
degrees of freedom for the denominatar (W - &) are across the rows in the table. A separate
tahle is included for a .05 and .01 level of significance.

Increasing the levels of the independent variable (k):

Suppose we have a sample size of 24 participants (M = 24) Record the critical values given the

following values far &
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As kincreases (from 1 to B), does the critical walue increase or decrease? Based on your

answer, explain how i is related to power.
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Anova: Single Factor

SUMMARY

Groups Count 3Um Average Variance

High 5.0 43.0 8.6 5.8

Moderate 5.0 34.0 6.8 a.7

Low 5.0 31.0 6.2 3.7

ANOVA

Source of Variation 55 O M5 E F-value F Crit
Between Groups 15.60 2.00 7.80 177 0.21 3,89
Within Groups 52.80 12.00 4.40

Total B8.40 14.00

Problem Set 4.4: One-way ANOWVA Results in APA Style
Criterien: Repart ANOWYA results in APA farmat.
Data: Use the results from Problem Set 4.3
Instructions: Complete the following:
a. State the null hypothesis.

b. Report your results in APA format (as you might see them reported in a journal article).




Problem Set4.5: Interpret ANOVA Results
Criterion: Interpret the results of an ANOWA.
Instructions: Fead the following and answer the guestion.

Data: Life satisfaction among sport coaches. Orakou et al. (2006) tested differences in life
satisfaction among sport coaches. They tested differences by sex, age, marital status, and
education. The results of each test in the following table are similar to the way in which the data
were given in their article.

Independent Life Satisfaction
Variables ¥ so | F o
Sex 0eBs | 409
Men 299 | 0451

Wamen 294 1 048

Age 3.04 | 029
0= 285|042

0= 4.03 052

40s 297 | 0457

50s 4.02 10480

Marital status 1246 | 000
Single 2.85 | 048

Married 410 | 0450

Divorced 400|035

Education 082 | 836
High school 392 (048
Fostzecondary 385 (054

University degree 4.00 | 0481

Masters 4.00 | 045

1. Which factars were significant at a .05 level of significance?

State the number of levels for each factar.




ANOVA v

AR - Fat Grams Consumed

Cases Sum of Sguares df fean Sguare F [
Stress Level 14.600 2 7.800 1773 0212
Residuals 52.800 12 4.400

Note. Tvpe [l Sum of Sguares

Descriptives

Descriptives - Fat Grams Consumed

Stress Level ] hean S0 SE Coefficient of variation
High g 2600 2.408 1.077 0280
Loy 5 G200 1824 0.860 0310
Moderate g G800 18924 0.860 0283

Post Hoc Tests
Standard

FostHoo Comparizons - Stress Lewel

Mean Difference SE t Puteey

High Loy 2.400 1.327 1.809 0.208
Moderate 1.800 1.327 1.357 0.393

Loy Moderate =0.600 1.327 -0.452 0.394

Note, P-value adjusted for comparing a family of 3

Problem Set 4.7: Tukey HSD Interpretation
Criterion: Interpret Tukey HSD results from JASP output.
Data: Use your output from Problem Set 4.6.

Instructions: Identify where significant differences exist at the .05 level between the stress
levels.



Chi-Square Tests

Problem Set 4.8: Critical Values

Criterion: Explain changes in critical value based on calculations.
Instructions: Read the following and answer the questions.

The chi-square table. The degrees of freedom for a given test are listed in the column to the far
left; the level of significance is listed in the top row to the right. These are the only two values
you need to find the critical values for a chi-square test.

Work through the following exercise and write down what you see in the chi-square table. This

will help familiarize you with the table.

Increasing k and a in the chi-square table:
1. Record the critical values for a chi-square test, given the following values for k at each

level of significance:

.10

Note: Because there is only one k given, assume this is a goodness-of-fit test and

.05

compute the degrees of freedom as (k — 1).

2. As the level of significance increases (from .01 to .10), does the critical value increase or

decrease? Explain.

.01

3. As kincreases (from 10 to 30), does the critical value increase or decrease? Explain

your answer as it relates to the test statistic.







